Basic Integration:

Jsinxdy=—cosx [ cot x dx = In|sin x|

Jeosxde=sin x  [secxdi=In|secx + tfanx|

[ secdrede=tan x
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I ﬁd{ = arcsin x

Integration by Parts: ffx)dx=fadb = ab ~ [bda
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Trigonometric Integration:
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cos(2x) = cos?x) - sin®lx) Jeos'xdx = Leos" lxsing + 254 [ cos" "% xdx
Integration of Rational Functions:
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Applications of Integrals:
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Sequences and Series:
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integral test: decreasing v, positive v, and continuous v

Power Series:
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Taylor Series = (x —a)

Polar Coordinates:

tan'x = ¥ (— 1) A

dim
= H->ue

p
x=reos() o yliy? tan{f) = ¢ =f4 Fot do
i
y = rsin(9} R - yE 0 = arctan( %)

MacLaurin Series is centered at (0,0)
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comparison test: choose series b so that series a< series b
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